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# s divided into three Sectio -A, B and C. Section-A contains Descriptive Answer
Questions,

e Section-B contains Short Answer Questions and Section-C contains Very Short Answer
uestions. Attempt all the Sections as per instructions.

) WUS-A (Section-A)
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This Section contains six questions, attempt any three questions. Each question carries 7 marks.
Answer must be descriptive. ~ ’
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1.
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Discuss the following reactions with their mcchanisrp :
(2)  TRNTHTHALDOL CONDENSATION.

() dcmfirar REIMER TIEMANNREACTION.
(©) R dfo Iz, (1. V. 2.) BT H. V.Z. REALTION.

O TN et

Sulphonation oc

\ r T in ne than B :
(b) oy m#&é%‘;}‘:ﬂ '?Ibluc citIlT n Benzene ‘

Which is more Basic and why ? Aniling or Para-Nitro Aniline.
(©) T3 sprcfta mor v v ARG - ot et AT TG 37 | o

Explain the org%r of Acid-strength among o, m and para-hydroxy benzoic acid.
e n Ay St e 7

How will you prepare Benzaldehyde from ?

() 9 Benzene (ii) ¥IG FATEE Benzoyl Chloride
éiﬁ)ﬁ?lsawsgphcnylcyanide (iv) 33 I Benzoic Acid

- TR R —Howit gives: | i
(@) tRMWZlTPcrkiu’s reaction , (ii) ﬁﬁhﬂw Benzoin condensation’

(i) e fesm Clemmensenreduction
ST & 57 : What happens when :

(D) R G = e AW S1TES W T e e e S |
Ethyl acetate is heated with CH; MgBr + Product is hydrolysed.
(i) RFRSSNTLFLI A 1 H, F o R R |
Phenyl benzoate is hydrogenated with LiAH,. '
(i) Sl sras ST S qra T fRrsm |
Salicylic agid is heated wi;#(Soda:ﬁne. :
(iv) TR = W% FeRI R 3 S RACHR AT ot 5 ang T ¢ |
Phenol is heated with conc. H,SO, and then with HNO,,
(v) SN Ba (OH), %44 st |
Propanone reacts with Ba (OH),.
T 3 3 AT HM : How will you distinguish :
(i) LGICLIEEEEE Acetophenone and Benzophenone.
(i) HHIe 9 313 2% Phenol and Benzoic acid. '
(i) WIS 9 GIF AT H COOH and CH, COOH. ~
T T AT [A), 39T Tohredt 3 W14 51 e, T e oraens 3t o] 9 G W4 [C) 3R 1 [
I 37AT - 3952 ¥ [B] T [D] e € | [D] 1 KMnO,, % §19 Rl ehiv T3 YT [B] ST BT 8 | [B]

Ca (OH), % T19 T ¢ 81 0 wrd (] Frerar § R Wit C, H O % 1 (B A1 e oo 3 ey

e &t Wl SV 3 W T a1 § et a8 2, 4-STEIRE) RSS! SRS 5 W BT AR | A,

B, C,D 9 E iftreht &t ety 7

An organic compound [A] on treatment with ethyl alcohol, gave a carboxylic acid [B] and a
compound [C]. Hydrolysis of [C] under acidic conditions, gave [B] and a compound [D}. Oxidation
of [D] with KMnO, also gave [B). [B] on heating with Ca (OH), gave [E] mol. formula C;H,O. [E)

does not give: [ +]ve test with Tollen’s reagent or Fehling Solution but forms 2, 4- dinitrophenyl
hydrazene identify A, B,C,D and E 9 :

dreamtopper.in

Scanned with CamScanner



WA fayw e T B Qe e - (Section-B)

S TR | el dFFel . e
7. ection containg three uestlons m%eg: anymsqﬁstnons Each question carries 3 V2 mar |
é‘ How woul d .
8. - ﬁfﬁqqﬁmﬁy Ouﬁdlsun lsh bctween Acctaldehyde, Benzaldehyde and Acetone. i
. Give the 7 R ARREEIC] ﬁﬁﬁ%aﬁ%mml o :
.9, Wﬁ?ﬂ s 2 formed thn Ni ltrobenzenc is reduced under different coriditions.
WAL ar h TS, P 3 e Rpar AT 2 «
Cthe PrOducts formed when Benzene diazonium chloride reacts with:
©) ~H, PO, (wef) H 3 PO, (aqueous) . (i) KCNTCuCN KCN and CuCN

(iii) HBF4 a;"HT"'TEfT(ef‘T{‘I-{BI’4 followedbyheat . (iv) Phenol, NaOH ¥ 919 Phenol and NaOH
QuE-q (Sectlon-C)
R REEATED DRt marﬁarﬁ .

This question contains five parts. All
paris are com u!scry
10. () IF-TWAATHFATR g

Which acid does not form anhydride o~ heating.
FR—Jraffes 3 |

(i) o faem i afas mmma”rﬁq CH,NH,, (CH,), NH, (CH;); N aNH;
Give the order of Base-strength among CH,NH,, (CH;), NH,(CH3);N and NH; in
aqueous solution.

C )N
) m—(ﬁ;}%ﬁ%m NHZ NHS (q%amimﬁmmm:

Name a carbonyl compound (Aldehyde or Ketone) which gives neither Aldol condensation
nor cannizaro reaction. A

FR—A~Ieenss | .
(iv) SARAAET: Give the productin:

| AlCl,
CH (CHy),
F— @ + CH; CH, CHy ct

= Tﬁ amm Complete and balance the reaction

) fqﬂﬂﬁ':[l CHCI, + KOH = 2+ KCl+?
CH3:H HC[3 + 3KOH— + CH;NC + 3KCl + 2H20
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